8.NS.A.1 Know that numbers that are not rational are called irrational. Understand informally that every number has a decimal
expansion; for rational numbers show that the decimal expansion repeats eventually, and convert a decimal expansion which

repeats eventually into a rational number.

Which number 1s rational?
h =&
5
2) 1
3) 7
3
4) 3

Which is a rational number?

) A8

2y &
3) 549
4 62

Which expression is rational?

D
2)

3)
%)

Which i1s an irrational number?

D)
2)

3)
4)
Which 1s an irrational number?

H o0
2) &

1
3) _E

4) «/5
The number 0.14114111411114 .. .1s
integral
rational
irrational
whole

Which expression represents an irrational number?

) A2
1

2) 3

3) 0.17

4 0

Which number is irrational?

H 9

2) A8

3)

4)2

3

Which _is an irrational number?
1)

2)

3)
4)

Which number is irrational?
5

1) 1

2) 0.3

3) AJ121

4H &

The value of A/x* —9 is a real and irrational
number when x is equal to

) 5

2) 0

3) 3

4) 4

Which number below i1s irrational?

\/%, 20, 121

Why is the number you chose an irrational number?

Given: '\@ , A 164, A 196

11
Identify the expression that is a rational number and
explain why it is rational.

Write an irrational number and explain why it 1s
irrational.
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Answer Key

8.NS.A.1 Know that numbers that are not rational are called irrational. Understand informally that
every number has a decimal expansion; for rational numbers show that the decimal expansion repeats eventually, and convert a
decimal expansion which repeats eventually into a rational number.

ANS: 2

5. } . ) )
= 1s rational because it is the ratio of two integers.

4

ANS: 3
15

5A/'9 is rational because it is the ratio of two integers, T

ANS: 4
1

- = > the ratio of two integers.

4

ANS: 3

C . . . 3 314
\.@ is irrational as it may not be expressed as the ratio of two integers. »-u"’_ =— 314=

1 100

ANS: 2

7 may not be expressed as the ratio of two integers. (0 = '\@

ANS: 3
The number 0.14114111411114 . . . is irrational because it may not be expressed as the ratio of two integers.
It 1s not a repeating decimal.

ANS: 1

«j@ is irrational as it may not be expressed as the ratio of two integers. (.17 =— 0=

17 0
100 1

ANS: 2
3

«..@ is irrational as it may not be expressed as the ratio of two integers. Jo=2
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Answer Key

8.NS.A.1 Know that numbers that are not rational are called irrational. Understand informally that
every number has a decimal expansion; for rational numbers show that the decimal expansion repeats eventually, and convert a
decimal expansion which repeats eventually into a rational number.

ANS: 4

VIR

1
3

7 1s an irrational number as it may not be expressed as the ratio of two integers. 0.3 =

ANS: 4

= 1 11
m may not be expressed as the ratio of two integers. 0.3 = 3 V121 = T

ANS: 4

-9 =4 -9 =7

ANS:
J20 isirrational because it may not be

expressed as the ratio of two integers.

\.3121=11—1

ANS:

~/ 196 because the number may be written as the ratio of integers.

ANS:
7 because it may not be expressed as the ratio of two integers.
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